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A rubber band can change its shape on stretching. Will you classify it as solid or not ?
Justify your answer.
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When a living plant cell loses water through of osmosis, there is contraction of the.
Contents of the cell away from the cell wall. What is this phenomenon called ?

3/ UE = 99 F iy st
Define one Newton of force.
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G fEms=m
(i) =i = T
Arrange the three states of matter in the increasing order of :
(i) rate of diffusion
(ii) particle motion

5. | e oo 3 350 g ferema S ¥ 50 g <t fack &1 e % 2 YR g1 FE W
faerga =1 wiza =1 qiEheE Hite )
A solution contains 50 g of sugar in 350 g of water. Calculate the concentration of solution
in terms of mass by mass percent of the solution.
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™M
Given is the diagram showing longitudinal section of collenchymas tissue. Label the parts
‘M, ‘N’ 'CY and P in the given diagram. €
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What is meant by free fall? A ball is dropped from the roof of a building. It take 10

seconds to reach the ground. Find the height of the building.
(g=9.8m/ 5% :

8. e drewl TU WEE T SN % 9 TR % Seerd Fiaw ) e ¥ faeg s W ARl O
e iR 3 friues fafimd fafew)

Mention three different ways in which crop plants can be attacked by insect pests. Also
suggest one conirol measure and two preventive measures against pests.

9. (a)
(b)
(<)
(a)
(b)
()
10. (a)
(b)

(a)
(b)
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Besides causing ill health and death, how do diseases affect the dairy animals ?

In a cattle farm there are fifteen cattles. How can you differentiate between
diseased and healthy cattles without conducting diagnostic tests ?

Cattle feed should include right amount of concentrates. What do concentrates in
cattle feed refer to ?

reeen wiiEde & <M 2 H B O afiees fatew
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Enumerate the changes that take place inside the matter during the change of
states.
When a solid melts, its temperature remains the same. Give reason

11" A wefife fam F e ity o fm vl & e e

()
(i)

(i)
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Study the diagram shown below and answer the following questions:
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(i) Name apd define the process shown in the diagram.
(ii) Which type of substance can be separated by this methods ?
(ifi) ~ What can we interpret about the nature of ink ?

12.  (a) maﬁﬂﬁmﬂ?mﬂ&?ﬁmﬁﬁmﬁ%m@iﬁﬁmfﬁﬁm
(b) Tty & 3 T = A e S0 W s 2R E 7
(a) Write two points of difference between nuclear region of a bacterial cell and
nuclear region of an animal cell.
(b)  Which structure present in the nuclear region of a living cell bear genes ?

lgy.fﬁif:&ﬁﬁ%mq{ﬁﬁaﬁaﬁﬂmaﬂxmﬂﬂIﬁmmml
SE A - ST o e s 2§ ol S Sei FEes & FE 6 3
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Identify the animal tissues from the given descriptions and also mention their location in

the human body.

Tissue ‘A’ - cells are filled with fat globules and the tissue acts as an insulator.

Tissue'B’ - has eylindrical branched cells and the tissue shows rhythmic contraction
/,,, and relaxation thought life.

A favieies ol e e e ) e § A s e

Write three distinguishing features between cells of meristematic and permanent plant
tissues. '

15, "o i s sEEE Tt =) afoniae Fifee | weE T U Sl Tl Ed |

Define uniform and non-uniform motion. Write one example for each.

16. i go ¥ us S o F S A Syt T T & e T g F U w5 A e § 1 S
fam 0 YA 1 HAU ferEy R sEm qfE Hifa
A swimmer is able to swim in a forward direction in a swimming pool only when he is

pushing the water in the backward direction. Give reason for the above mentioned
statement and justify the same.

7.8 35km;hﬁw%wmﬁmamm%mﬁwﬁﬁmm-%n qE AR
T 5 e § A e ) e 8 @ e ¥ olR o B A o § SR S =
T w1 e = 450 kg 2, 9 9 g e e we s Hifa)
An auto driver moving with a speed of 36 km/h sees a child standing in the middle of the
road. He applies break and brings his vehicle to rest in 5 seconds just in time to save the
child. If the total mass of the auto and the driver be 450 kg then calculate the force of
brakes.
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Two bodies ‘P’ and ‘Q’ having masses m; and ms, when separated by a distance d. exert a
forge ‘'F’ on each other, What happens when
) masses of both the objects are doubled.
(b)  distance between the two bodies is reduced to half.
(c) the space between the two objects has no air and it is complete vacuum.

19. it aw UE, fawei g = 20 m/s? &, W 10m 1 S F U e e s ¥ wen w5 aw
TiETd F1R w6 9 TE F 7S A T 1 36 o 1 9 S T ol 9 6 4 ot e |
A stone is dropped from a height of 10 m on an unknown planet having g =20 m/s?

Calculate the speed of the stone when it hits the surface of the planet. Also calculate the
time it takes to fall through this height

20. (a) ‘weaiee’ ofRgERieE § w4 AR € 2

(b) = - #ire SR El we ¥ 9 F T 1 sl | vk i)

(c) e Tt 3 T AR I S $ FE S e e S

(a) What do the terms ‘macronutrients’ and “micro-nutrients’ signify ?

(b)  Briefly describe the formation of vermicompost and green manure.

(c) List two advantages of using manure for nutrient management.

OR

(a) ﬁmfﬁnﬁm,mﬁnﬁﬁﬁm@m%laﬁ%m%wmaﬂﬁm
TEE ¥ HEE it |

(b) EEF 3w e 5T T STEm F o i

(© o s S 2 4w w w fafa

(a) Ajay, an illiterate farmer does not understand the difference between manure and
fertilizers. Help him to differentiate between the two. in terms of their
composition.

(b} Justify the use of manure highlighting two of its advantages.

(<) Mention one drawback of excessive use of fertilizers.

ﬁuﬁaﬁqﬁﬂﬁaaﬁm;fﬁéa}

@ =
(i) s
(iii) =

R it i & SER T werd Ft firdl 31 el ¥ o fatag)
Define the following terms : (any two)

(i)  Rigidity

(i)  compressibility and

(iify  Density

Compare any two states of matter on the basis of above defined properties.

31wET/OR
(a) v 3R Taed § HE U g U U S faten)
(b) % wRw e
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(i) =i % dem E et $92 0 9 gEd T
(a State one similarity and one difference between evaporation and boiling.
. Account for the following :

(i) We wear cotton clothes in summer.
(ii) A wet handkerchief is placed on the forehead of a person suffering from
high fever.

(i) Wet clothes dry slowly during rainy season

e wiEEs ®i H5 aF fagead fafa )
( FiawEs & 9 veH ¥ T fafau)
c = faif & 4 wenge TEag -

e, W § =, =, @, |5e e, B
List any three characteristic of colloid.
Name the two components of a colloid.

\_9/ Identify colloid from the following mixtures
Muddy water, sugar in water, ink, blood, soda water, foam

OR

(a) T STEES S S AT | 5 2 ofd fafe

(b)  Tel Ao WA % fafy weiie e g i = e

(a)  Enumerate any two differences between simple distillation and fractional
distillation

(b)  Draw a labeled diagram showing the process of fractional distillation

T T Wetta w & i T ¥ g R 3 e v aitefda dm g
() SR=REETFEE?
(i) R0k ATEITnE ?
(i) O 1 I W T ¥ T N i § 7
(iv) T @ SIA G R B e Yari w & 2
(v) Wi 8 wvd F i gl 9h S

Speed (km/h)
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()
=

234 6 & 10 12
Time (in hour)

The graph given alongside shows how the speed of a car changes with time.

{i) What is the initial speed of the car?

(ii) ~ What is the maximum speed attained by the car?

(iif) ~ Which part o the grapn snows zero acceleration?

(iv)  Which part of the graph shows varying retardation?

(v) Find the distance travelled in first 8 hours.

i
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234 6 8 10 12
Time (in hour)
HEEYOR
(a) ot o 1 SP0Hg O TR Y 3 OE W, G IR I anE € 2 Ty W
HeiL it # wa & 7
(b)  fou e v s few weew it i ) weffa wd € 2

speed (m/s)
speed (m/s)

time (5) ; time (s)
(© U =" % = 10 ¥%s F 36 km/h ¥ 54km/h 95 il &1 SHH w0 T RG]
{a) If the velocity time graph of an object is parallel to x-axis, what does it mean ? Can
it be parallel to y- axis ?
(b) What type of motion is represented by each one of the tollowing graphs ?

speed (m/s)
speed (m/s)

time (s) i time (3)
(c) A bus increases its speed from 36 km/h to 54km/h in 10 seconds. Find its
acceleration.

24" (a)  Ham = uftunfid Fferg 1 gEeR SI A fate)
(b) smﬁ%aﬁﬁﬁmﬁglnkgwmaﬁaﬁqmmﬁmw@wmﬁﬂﬁ?
(g =10 m/s?).

(<) " e F S S O TEendl U 6 wed | el & oL i a9 gl 6

(a) Define momentum. Write its S.1. unit.

(b)  How much momentum will an object of mass 10 kg transfer to the floor, if it falls
from a height of 5m (g =10 m/s?).

(c) Explain how a karate player can break a pile of iles with a single blow of his hand.

£ . swEyoR

(a) m’,ﬁaﬁuﬁﬁmaﬁmﬁmﬁaﬂm‘m@ﬁm,maﬁwﬁﬁﬁgm
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Define ‘inertia’. A shopkeeper shows three toys to a child made up of
aluminimum, steel and wood, of same shape and volume. Which one of them
would have highest inertia? Why ?
y Describe in brief an activity to illustrate the property of inertia of rest.

=E ‘T /SECTION - B

25 ﬁmﬁ%ﬁﬁgﬁa@mﬁwﬁmlﬁﬂﬁ%ﬁmmwaﬁﬂm%:
(@) T = & @@ § age Al
(b) T {n ot H wew < E
(€ T TR gt § @ g
(d)  Frdre = we S I H Fww W
Shivam added two drops of iodine solution to potato extract. Which of the following
represents the correct observation made by shivam?
(a) Colour of extract change to black
(b) Colour of extract change to brown
(c) Colour of extract change to brown black
@ Colour of extract change to blue black

\W%
(a) TUFEEE (b)  WEL =TT % WAH U

(c) i T (d) U T TR Bl T

tanil yellow is
\_(_g)) adye (b) yellow grain similar to arhar dal

{c) anutritional supplement  (d)  another type of dal

L}

Wmmm%mm T, o @i gen 3 e s 1, I, 10w IV &1 2 7
FrEEE | 4 @ o wann I €

(nn )

(@ I by I o I (d IV

Reema, Archna, Shakti and Illa made the arrangement L II, 111, IV for determination of
boiling point of water. Which one of them has made the correct set up ?
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(a)
©
(c)
{d)

TR 36 AR TR S S e aeEE - 10 C 2 S §, 36 9 a1onE feer @ S )
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At room temperature a student sets up the apparatus to determine the melting point of
ice. He takes a beaker half filled with ice and dips a mercury thermometer in it. The
correct observation is :

(a)
(b)
(c)
(d)

Mercury in the thermometer keeps on falling till it reads —1° C, it remains
constant thereafter.

Temperature falls, reaches (° C, then it remains constant even after the whole of
the ice has melted.

The temperature falls in the beginning but starts rising as soon as the ice starts
melting.

Temperature falls, reaches 0° C and remains constant only as long as both ice and
water are present in it.

@ A -FE | B - 37[E FmifEm FEAEE, C - SHIMEE F6RES a9 T T5F & a0

(b)

&

A - FWITER A0S F AW, B - NG AAET FAEs, C - e F60ss 949 9
THE = R
A -4, B - 7% i F6REE, C - 99 795 a9 SEitEs wengs (NHLCT) = g
A - FHEITES FE0ES H 99, B - A7 FEiEn FenEs, C - i1 S6REes a9 5
TaF Fl e
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The correct labeling of the diagram shown below is:-
= A

(a) A - cotton plug, B - impure NHsCl, C-mixture of NHCl and common salt
(b) A - NH,Cl vapours, B- pure NH;Cl, C- mixture of NH;Cl and common salt
(c) A - cotton plug, B - pure NH,(1, C- mixture of NHLCl and common salt

(d) A -NhyCl vapours, B - impure NhyCl, c- mixtire of NHyCl and common salt

30, v T Taer @ v 9 e vaifen #1 T A Swe wn g gen ) faum @ e ¥
: (@) e (b)y == faeE (€ T (4 FEEHEE
When a beam of light was passed through a solution, the path of light became visible. The
solution could be -

{a) Lemonade (b)  Sugarsolution
7wy  Milk (d)  Saltsolution
31 943 ot 1 BieA oK Tew Tost =i =51 fow ¥ I a9 W R e 8, @ e WikE i 0
(a)  HEE TTHE WO Fed § (b) @ F S e aes S ¥
()  Tamw o aw B s d (d)  fazm afem & s &

When iron fillings and sulphur powder are heated in china dish at high temperature , we
observe that

a Sulphur starts melting (b)  Iron fillings start melting
<) Mixture becomes red hot (d) Mixture evaporates
32 3 T YR v 1 Hi" 10ml. 7 seEie o faa AR 39 g gFe e e

Ui F B | S5 R THEE S TdE T ¥ 9 9ean v | Feeed BY Uik
fru | omy Ak frm e doedt =1 s Gy e € @it s =i e T F e 5w
SRt € 1A A E -
(a) it
(b) BESeA HewEEE
(c) 9T SEATES
(d)
Manav took about 10 ml of dil. H:SO, in a conical flask and added a few pieces of clean
zinc metal . He observed small bubbles of a colourless and odourless gas coming out of
the flask , he observed that the candle flame goes off and the gas in the flask burns with a
pop sound . The gas is
(a) Oxygen (b)  Hydrogen sulphide
.I (c) Sulphur dioxide (d) Hydrogen
ﬁ/ﬁﬁmﬁ@.mﬂwﬁﬁﬁﬁ%aﬂﬁmﬁﬂwwﬁ:ﬁmﬁ gt A @it 3K =99 15ml
7 R eENewEE T | qrEe @ dsi 4 feeran w1 S feem e i

Page 11l of 14



(a) el 3R TR 2FT et faead 59 9§

(b) T 1 % S % FU @ o & g okt e ged §
(c) Hiet 11 % WeRt F FU AR § g ©ie % H0 A4 goid ¢ |
(d) ¥ =eemE Uka ¥ fH

Namita took small amount of mixture of iron and sulphur powder in a test tube and to it
she added 15 ml of carbon disulphide. The test tube was vigourously shaken. It is was
observed that

both iron and sulphur dissolve to form a solution
(b)  grey coloured iron particles dissolved but not the sulphur.
{c) vellow coloured sulphur particles dissolved but not the iron.
(d)  no change was observed.

34, dwitfyrem fad &1 g # Sen W, TG TIest W ga E |
IS FT AW TE qREdT 1 R A -
(a) Biferm sRgEEEe U Hifas feda
(b) Frfiferam sifemgs T wifas wfied
() Friifirm fease wd vamEfE aREdd
(d) F=ifrm Tegease v Tt 9fiEd On burning magnesium ribbon in air, a white
ash is obtained. Name of the product and the type of change are:-
{a) Magnesium hydroxide and physical change
(b} Magnesium oxide and physical change
@ Magnesium oxide and chemical change
d)  Magnesium hydroxide and chemical change

%mmqmmﬁmﬁ%-
(a) #ea H e % g Hfafa s =
(b) wea # ¥ e T ABR S
(c) Frait F1 3R F=m F 1Y HEAHR ATHR i
(d) 5% & Fah 3 WY THEd! SR H

_Human cheek cells as observed under the microscope are
2 Irregular in shape with a nucleus in the centre
(b)  Circular in shape with a nucleus in the centre
()  Rectangular in shape with a nucleus towards the periphery
(d)  spindle shaped with a nucleus in the centre

36, TrE FE FivERT = o wEe F9 w9 e H | wF O aEEE 9t =iey ?
(a) Sififis Al 1 EERE FEE 5R 93 < el |
(b) FEEmEl A Ft Aok forg FaRie H R A v =
(c) var= =1 Treett F qS § SEF = |
(dl) S
Whish of the following precautions should be observed while preparation of temporary
mount of cheek cell ?
(a wipe off extra stain with the help of blotting paper.
(@ put the cover slip gently to avoid the entry of air bubbles

(0 avoid folding of the onion peel
(d)  all of the above
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37. /Qewedi gr o i faee ®1 e w1 orar wige SR w0 6 9r , wl e -
(@) = = et w1 S fr s el % ws gt & wd A
/(o) = i el H wifveRsi i e gER 7§24 & wifa v S ¢
/(G (a) 7 (b)
(dl) SIS ¢ T
After observing a temporary mount of onion peel cells under microscope, the correct
statement is -
(a) Onion peel has closely arranged cells, without intercellular space
(b) arrangement of cells in onion peel appears like bricks arranged in a wall
() both ‘a’ and 'V
{}H’ none of the above

38. Xﬁaﬁm'ﬁﬁﬁgﬂﬁﬁmﬁmﬁﬁﬁﬁﬂﬁ@ﬂmﬁﬁﬁﬂm%ﬁfﬁﬁm |
TS 8w # -
(a) U TRE =t
(b) s+ Aferi =1
(c) 2Hi ‘g’ & 'b'
(d) 37 = &
While observing a slide of animal tissue under a microscope, Reena observed light and
dark bands. The slide can be of :

/@ voluntary muscles (b) involuntary muscles
() both ‘a’ and ‘b’ {d) none of the above

3,9./ HYY 7 UIGY T Bl TEES GEHSH gl UikE =1 el e fas e | w0e @ O e

(b) FeraED
(d) ST #iE TE

(a) Parenchyma (b) Collenchyma
(c) Sclerenchyma (d)  None of these
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TEE -
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(b) Bt g i, 5=, ==, qen, T, e
(c) 7=t frafom, =@, gon, fed 3
(d) el & Fruft, W, gon, T4 0
The correct set of materials required to calculate the percentage of water absorbed by the
raisins is represented by the statement:-
(a) Dry raisins, water, container, weighing balance, forceps and Higfing paper.
(b)  Swollen raisins, water, container, weighing balance, forceps and Slutii: paper.
()  Dry raisins, water, weighing balance, lafisi; paper.
(d)  Swollen raisin, water, weighing balance, Bigitiag paper.

fﬁmhmﬁuﬂaﬁ{?%m%wﬁnaﬁmﬁm#maﬂwm%éﬁ
e T w0 3 v 6 e d F w1 $ W Sk w9 F wed ° EE =l -

.z/l— 1=30m
h=20m

A a
(a) werE A fome dwa30x20m? € (b) Tl B Foae &wd 20x 10 m° 2
(© e C e AFwa 30 x 10m2 € (d) A, BERC ¥4 FE 4

| In an experiment to establish the relationship between weight of a wooden cubeid lying
on the horizontal surface and the minimum force required to move it which of the
following faces of cuboid should be in contact with the surface ?

/""f"]'_—_' s I=30m
¢ j‘ b=20'm
. h—20m
AR it
(a) Face A with area 30 x 20 m” (b) Face B with area 20 x 10 m*
{s] Face ¢ with area 30 x 10 m? () any of the face A, Bor €.

L/H."Eﬁrrrﬁﬁmqwn'mﬁfﬂ 1w from AwE] % ek H AW ol 30 feEen am % fod S
T Hi9 He [ ® F e, FER g 1 e yAm A e

(a) #ga =i ==

(b) 8 EHe

(¢} HEAE. Bl

(d) 12 +if wEnT A o R ©

fn an experiment to establish the refationship between weight of a rectangular wooden

bl s Iving on a harizontal table and the minimum force regquired Lo just move 1L using a
spring balance. Which tvpe ol string should be used?

(a) very high elasticity {b) less clasticity
() moderate elasticity {1} anvone can be used.
-olo-
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